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C(0,5) , D0,9) a4 (x—4) +(y—-7" =20 @ (oo R=v20 (1) N

(IO M) 20.65 1 1D (3) y:%x (¢)] m:% (1)

x>0, \e 0 @ y:§x+3 7)) m:%’ (1) a x>0 N
1

3

MpNN PN ,T191 NVYYWN DTN NIV JYN1 N9 WYY DoHXS Imn
052-2671210 - avm 98 - w1 ey ©



052-2671210 - 2V 9N - (803) 382 NUNW - R TYWA - 2018 - M"ywn - p'p M1 ©

3 2
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2 2
A6,3) = (6-4 +(3-7 =R
D(0,9)
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N .4
fx)=3/x ., ,/~ = x20
(1) a

=852 = m=fw=;3=4 = m=§
2
f(4) =3v41=32=6 = (46) = y—6=3(x—4)
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a=0,a, ,=a,+3 ; by=a,+a,,, v ~ .7
by=a,+a,,; =ay+(@n+3) = bp=2a,+3 ()

2
b,,; —bn=(2a,,,+3)—(2a, +3) =2a,, ; —2a, = 2(ap +3) — 2ap

= d=b,, ; —by=6 (/)
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2
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2
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y =2px=2-30x = Yy =60x x=3(@-1)
y

MpNN PN ,T191 NVYYWN DTN NIV JYN1 N9 WYY DoHXS Imn
052-2671210 - avm 98 - w1 ey ©





